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FORMELSAMMLUNG FÜR TEXTILBERUFE  
 
Zwirn ohne Einzwirnung 

 
 
 
 

 
Zwirn mit Einzwirnung 

 
 
 
 

 
Drehung von Garnen 

 
 
 
 

 
Verzüge  

 
 
 
 

 
Vlieslegung  

 
 
 
 

Handelsmasse  
 
 
 
 

Mischungen 
 
 

 
Dichte 

 
 
 

Flächen  
 
 
       oder 
 
 
 
 
 
 
 
 
 

 
Volumen  

 
 
 
 
 
 
 

 
Getriebe  einstufig 

 
 
 

 
 
 
 
 

Getriebe  mehrstufig 
 
 
 

 
 
 

 
Umfangsgeschwindigkeit  

 
 d in [mm] 
 n in [min-1] 

  

Gewichtskraft / Kraft  
 

 

g=9,81 m/s² 
 
Drehmoment 

 
 

 
Arbeit  

  
 

1 [Nm] = 1 [Ws] = 1 [J] 
 
Leistung  

 
 
 
 

 
Ohmsches Gesetz 

 
 

 
Wirkungsgrad / Nutzeffekt 

 
 
 
 

 
Wärmeausdehnung  

 
 
 

Statistik  
 

 
 
 

 
 


